St Andrew's Grammar





ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 29th December 2023 Using "G9YQ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery will be dispatched for \$8 no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if the order is placed on or before the cut-off date of Friday 29th December 2023.

Orders can still be placed after the cut-off date but will incur a late fee of up to \$17.50 and cannot be guaranteed delivery prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions



Year 12

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the cut-off date, some items may go to backorder and need to be reordered from the supplier.

	When ordering after the cut-off date, some items may go to backorder and need	to be	reordered from the	suppli	er.	
	PERSONAL ITEMS FOR STUDENT USE					
P50466	Correction Tape 5mm x 8m Marbig	1		1	5.00	5.00
P55710	Dividers Index A4 5 Tab PVC Multi Coloured	2		2	2.20	4.40
P58510	Eraser Plastic Pencil Large With Sleeve	3		1	0.40	0.40
P56211	Handy Pouch Pencil Case 345mm x 140mm	4		1	3.50	3.50
P51085	Highlighters Pkt 4 Artline Vivix	5		1	9.55	9.55
P55098	Lever Arch File A4 70mm PE Black	6		1	8.35	8.35
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	7		2	3.80	7.60
P56095	Pen Ballpoint Cap Type Blue Medium	8		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	9		4	0.35	1.40
P50006	Pencil (HB) Micador Essential	10		4	0.35	1.40
P50240	Punch Mini 2 Hole (Ringbinder) Assorted Colours	11		1	4.95	4.95
P58553	Ruler 300mm Plastic Fluoro	12		1	1.00	1.00
P56470	Scissors 135mm Comfort Grip	13		1	3.05	3.05
P56242	Sharpener Pencil Barrel Double Hole (EL)	14		1	2.10	2.10
P56561	Stapler 26/6 Beastie Mini (Rexel)	15		1	8.50	8.50
. 0000.	Stapler 20/0 Beastle Willin (Nexel)	10		'	0.50	0.50
	CAREERS & ENTERPRISE GENERAL					
P30241	WA Career & Enterprise (CAE) General 12/ATAR 11 2E [Michael Carolan]	16		1	65.00	65.00
P50175	Display Book A4 40 Pocket Refillable	17		1	6.15	6.15
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	18		1	2.15	2.15
	CHEMISTRY ATAR					
E00718	Digital Pearson WA Chemistry 12 (2yr Access Code)	19	DIGITAL ITEM	1	55.95	55.95
	(Please choose carefully before ordering this product as once purchased, even this digital resource cannot be returned, refunded or exchanged if you change you Either physical or digital copy is suitable.			or used	d the acces	s code,
P06274	WA ATAR Exploring Chemistry Year 12 (SPIRALLED) [STAWA]	20		1	45.50	45.50
	CHILDREN FAMILY & COMMUNITY OF NEDAL					
P55442	CHILDREN, FAMILY & COMMUNITY GENERAL	04		4	0.45	0.45
F33442	Display Book A4 20 Pocket Black Refillable	21		1	2.15	2.15
	ECONOMICS ATAR					
F54380	St Andrew's Grammar Economics Yr 12 Atomi Subscription	22		1	50.00	50.00
	MANDATORY: Please provide payment to Campion for the Atomi Subscrip Access details will be provided by the School.	tion.				
P32347	WA ATAR Investigating Macroeconomics Yr 12 7E [Greg Parry, Steven Kemp]	23		1	88.00	88.00
P50175	Display Book A4 40 Pocket Refillable	24		1	6.15	6.15
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	25		1	2.15	2.15
	ENGLISH ATAR					
P31361	WA English Yr 11 & 12 ATAR Coursebook & Exam Guide [Rachael Sarahs]	26		1	59.95	59.95
	(if previously purchased, retain for 2024)		_			
P03005	Shark Net, The [Drewe, Robert]	27		1	24.99	24.99
P03053	Things Fall Apart (Modern Classics) [Achebe, Chinua]	28	<u> </u>	1	22.99	22.99
P10020	My Hiroshima [Junko Morimoto]	29	_	1	16.99	16.99
P08188	Insight Year 12 English WA (Print & Digital) Rev	30	_	1	54.95	54.95
P14672	Insight WA Year 12 ATAR English Exam Practice [L Bondin & L Pettigrew]	31	<u> </u>	1	19.95	19.95
P34027	Good Answers ATAR English 2024 [ETAWA]	32	<u> </u>	1	31.50	31.50
	(Due approx. May)					

	•	•	— 6	•		
Office Use	Description	Item No.	☑ Item Regd	Qty Pogd	Unit Price \$	Total Amount \$
Office Ose	Description	140.	Requ	Nequ	FIICE \$	Amount
	ENGLISH GENERAL					
P00721	WA English Yr 12 General [R Quin, W Cody & H Rayner]	33		1	60.95	60.95
P15425	Happiest Refugee, The [Anh Do]	34		1	32.99	32.99
P16018	Memorial (Picture Book) [Gary Crew]	35		1	16.99	16.99
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	36		1	1.65	1.65
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	37	<u> </u>	1	3.80	3.80
	ENGLISH AS AN ADDITIONAL LANGUAGE OR DIALECT ATA	AR				
P15808	Insight EAL Year 12 (Print&Digital) 2E [Napthine and Daniel]	38		1	49.95	49.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	39	$\overline{}$	3	1.65	4.95
	Please purchase a dictionary of Home Language/English.					
	ENGLISH AS AN ADDITIONAL LANGUAGE OR DIALECT GEI	MEDAI				
P15808	Insight EAL Year 12 (Print&Digital) 2E [Napthine and Daniel]	40		1	49.95	49.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	41		3	1.65	49.95
1 30431	Please purchase a dictionary of Home Language/English.	41	ш	3	1.05	4.95
	FOOD SCIENCE & TECHNOLOGY GENERAL					
P52044	Apron Cotton Black (Centre & Pencil Pockets)	42		1	14.95	14.95
P55442	Display Book A4 20 Pocket Black Refillable	43		2	2.15	4.30
	GEOGRAPHY ATAR					
P34160	A Student Guide to 2024 Yr12 ATAR Geography Examination [Roberts & Whitty]	44		1	36.50	36.50
	(Due Approx. March)					
P34041	Creelman Exam Questions Geography ATAR 3&4 2024 [Doug Wilson]	45		1	50.00	50.00
D04040	(Due Approx. March)	40			70.00	70.00
P31940	WA ATAR Geography Units 3&4 (3E) [Bell]	46		1	76.90	76.90
P50175	Display Book A4 40 Pocket Refillable	47		1	6.15	6.15
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	48		1	2.15	2.15
	HEALTH STUDIES ATAR		_			
P07123	WA Health Studies Year 12 ATAR 2E [Emily Lockhart]	49		1	70.00	70.00
	HUMAN BIOLOGY ATAR					
P13290	WA ATAR Human Perspectives 3&4 (Print & Digital) 8E [Whan et al]	50		1	87.95	87.95
	Either physical or digital copy is suitable.					
P30301	WA ATAR Human Biology Yr12 Study Guide (Revised Edn) [Glenda Leslie]	51		1	59.00	59.00
	MATHEMATICS GENERAL					
P05723	Mathematics Essential Units 3 & 4 Year 12 WA [P. Ellery, L. Strickland]	52		1	60.50	60.50
P50154	Compass Maped Study SY120 Metal with Pencil	53		1	3.95	3.95
P51080	Exercise Book A5 64 Page 8mm	54		1	2.10	2.10
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	55		1	41.95	41.95
DECOES	(or similar calculator; purchase OR retain from previous year)	50	_	,	0.4-	0.45
P56353	Protractor 10 cm 180 4" Half Circle	56		1	0.45	0.45

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS APPLICATIONS ATAR					
P03539	WA ATAR Math Applications Yr12 Revision Series (Revised Edn) [O. T. Lee]	57		1	59.00	59.00
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	58	5	1	281.95	281.95
	(purchase OR retain from previous year)		_			
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	59		1	41.95	41.95
	(or similar calculator; purchase OR retain from previous year)					
P51269	Calculator Padded Case (Graphical)	60		1	11.50	11.50
P50154	Compass Maped Study SY120 Metal with Pencil	61		1	3.95	3.95
P54143	Graph Book A4 96 Page 5mm Spirax #131	62		2	2.00	4.00
P56353	Protractor 10 cm 180 4" Half Circle	63		1	0.45	0.45
Г	Read below options & select accordingly		Choose One			
	OPTION 1: Print & Digital					
P32048	Cambridge WA Senior Maths Applications Yr12 (Print&Dig) [Jennifer Prosser et al] - OR -	64		1	84.95	84.95
	OPTION 2: Digital ONLY					
E32048	Digital Camb WA Senior Maths Applications Yr12 (Access Code)	65	DIGITAL ITEM	1	67.95	67.95
	(Please choose carefully before ordering this product as once purchased, eve this digital resource cannot be returned, refunded or exchanged if you change			ea or us	ed the act	cess code,
	MATHEMATICS METHODS ATAR					
P19016	WA ATAR Math Methods Yr12 Revision Series (Revised Edn) [O. T. Lee]	66		1	59.00	59.00
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	67	$\overline{\Box}$	1	281.95	281.95
	(purchase OR retain from previous year)		_			
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	68		1	41.95	41.95
	(or similar calculator; purchase OR retain from previous year)					
P51269	Calculator Padded Case (Graphical)	69		1	11.50	11.50
P50154	Compass Maped Study SY120 Metal with Pencil	70		1	3.95	3.95
P54143	Graph Book A4 96 Page 5mm Spirax #131	71		2	2.00	4.00
P56353	Protractor 10 cm 180 4" Half Circle	72		1	0.45	0.45
	Read below options & select accordingly		Choose One			
	OPTION 1: Print & Digital					
P32050	Cambridge WA Senior Maths Methods Yr 12 (Print&Digital) [Mark White et al]	73		1	84.95	84.95
	- OR -					
	OPTION 2: Digital ONLY					
E32050	Digital Camb WA Senior Maths Methods Yr12 (Access Code)	74	DIGITAL ITEM	1	67.95	67.95
	(Please choose carefully before ordering this product as once purchased, eve this digital resource cannot be returned, refunded or exchanged if you change	n if yo your i	u have not activat mind.)	ed or us	ed the ac	cess code,

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS SPECIALIST ATAR					
P11744	WA ATAR Math Specialist Yr12 Revision Series (Revised Edn) [O. T. Lee]	75		1	59.00	59.00
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	76		1	281.95	281.95
. 002.2	(purchase OR retain from previous year)	70		'	201.33	201.90
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	77		1	41.95	41.95
	(or similar calculator; purchase OR retain from previous year)		_	•		
P51269	Calculator Padded Case (Graphical)	78		1	11.50	11.50
P50154	Compass Maped Study SY120 Metal with Pencil	79	_	1	3.95	3.95
P54143	Graph Book A4 96 Page 5mm Spirax #131	80		2	2.00	4.00
P56353	Protractor 10 cm 180 4" Half Circle	81		1	0.45	0.45
	Read below options & select accordingly		Choose One			
1	OPTION 1: Print & Digital					
P32052	Cambridge WA Senior Maths Specialist Yr 12 (Print&Dig) [Mark White et al]	82		1	84.95	84.95
	- OR -		_			
	OPTION 2: Digital ONLY					
E32052	Digital Camb WA Senior Maths Specialist Yr12 (Access Code)	83	DIGITAL ITEM	1	67.95	67.95
	(Please choose carefully before ordering this product as once purchased, eve this digital resource cannot be returned, refunded or exchanged if you change			ed or us	sed the ac	cess code,
P04623 P04610 P50175 P50328	MODERN HISTORY ATAR Nelson Modern History AC: Russia & the Soviet Union [Ken Webb] Nelson Modern History AC: Struggle for Peace Middle East [Bickerton & Taylor Display Book A4 40 Pocket Refillable Exercise Book A4 128 Page 8mm with Margin Spirax #110	84] 85 86 87		1 1 1 1	65.95 54.95 6.15 2.15	65.95 54.95 6.15 2.15
	PHYSICAL EDUCATION STUDIES GENERAL					
P06053	WA Physical Education Studies: A Resource for Yr 12 General [R Gaujers]	88		1	78.95	78.95
	PHYSICS ATAR					
P13175	Nelson AC Physics 3&4 (Print & Digital) (Revised Ed) [N Champion et al]	89		1	90.95	90.95
P30305	WA ATAR Physics Yr12 Study Guide (Revised Edn) [Michael Lucarelli]	90		1	59.00	59.00
	PSYCHOLOGY ATAR					
E31951	Digital Nelson VICscience Psychology VCE 3&4 (Access Code)4E	91	DIGITAL ITEM	1	49.95	49.95
	Either physical or digital copy is suitable. (Please choose carefully before ordering this product as once purchased, even this digital resource cannot be returned, refunded or exchanged if you change y			d or use	ed the acce	ess code,
	VISUAL ART GENERAL					
P55442	Display Book A4 20 Pocket Black Refillable	92		1	2.15	2.15
	UNIREADY					
P51682	USB Drive 32GB 3.0 - NO RETURNS	93		1	19.95	19.95
P55442	Display Book A4 20 Pocket Black Refillable	94		2	2.15	4.30
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	95		2	1.30	2.60
	CERT II IN SPORT AND RECREATION No text required					

 $\sqrt{}$

Total

Amount \$

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$
	Number of Boxes ticked:				
	Postage (Home delivery only)		\$8.00		
	ESTIMATED AMOUNT DUE (PRICES CORRECT AT 31/10/23)		\$		
	☐ Yes, please email me with information on current Year 11 and 1	2 Stud	y Guides.		